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Answer: A HISdR



Reference ID:(15380)

Answer:

Reference 1D:(15122)

Answer:

Reference ID:(15103)

Answer:

Reference 1D:(15101)

JeIdd 99 § el Jared aare] guIe 3115, 20 JuIYd! deidid ag g &l
TTeaT 94TedT 12 Ue Bid. deidid aad ad (auiHe) 31Te:

A.44
B.40
C.42

D.38

A.44

Choose the correct form of verb that is in agreement with the subject:

| hope you your work before leaving for the day.

A.completed
B.is completing
C.will complete

D.was completing

C.will complete

Choose the appropriate option with the correct punctuation marks for the
given sentence:

robin the secretary prepared the minutes

A.Robin, the secretary, prepared the minutes?
B.Robin, the secretary, prepared the minutes.
C.Robin; the secretary prepared the minutes

D.Robin, the, secretary prepared, the minutes.

B.Robin, the secretary, prepared the minutes.

Choose the option that has the correct spelling.

A.lgnorence
B.lgnnorance

C.Ignorancce



Answer:

Reference 1D:(15119)

Answer:

Reference 1D:(15118)

Answer:

Reference ID:(15363)

Answer:

Reference 1D:(15148)

D.lgnorance

D.lgnorance

Choose the most suitable conjunction for the given sentence:

They got married left for Dubai the next day.

A.since
B.and
C.because

D.or

B.and

Choose the option with the best prepositional phrase to complete the given
sentence:

| shall always stay by your side and be true to you.

A.at a price
B.at a low ebb
C.at any cost

D.at the mercy of

C.at any cost

sl ¢l WieHs Wdlaud! BT BTy 3g?
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C.STfd® 3
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A5
B.3
C4

D.2

Answer: Cc4

Reference ID:(15366)  3fJ@a T AT IAUT gIR 0y fobar ufcR w1 defda
AR AT FHIGRT Bl 317G,

A.161
B.241
C.159

D.281

Answer: C.159

Reference 1D:(15112) Choose the appropriate articles to complete the given sentence:

The students have reached top of mountain during
afternoon.

A.no article required, the, a
B.the, the, the
C.the, a, no article required

D.the, a, the

Answer: B.the, the, the

Reference ID:(15128)  faciedT YsgiTerdd favarf wreq i,
R 3 e g—

NGRS
B.d%
c¥g

D.did

Answer: B.dsh



Reference ID:(15365)  Wdiaideh! HIUIAT Hard B HaUTHE Iuran fIGR Jaifera argera
THIAY 3MT]?

A D cH 21
B.®clH 32
C.ocH 7

D.dhclH 55

Answer: B. & ¢lH 32

Reference ID:(15352) R+ §¢ $6 [¥Ud 3MTg?

A.3IGHT 3T FAdeR s
B.@&gIq

C.Hicel @rst

D.UTeeh G

Answer: A.3icHT 30T AwieR a9

Reference ID:(15144)  3Hdhad-id U aad dIl.
ST §ST1 9 AiedTdie U™ UTugTd gg- Hell,

A9 gl 9 fo=ardtel ATu rvard ge- de.

B.dIc gerelt 9 fa=amdia AT urvard §g- A,

C.dIc gS1edT d ATt HIUN UrudTd g8 Hal.

D.dIC §eTell d Tciiel HIU UTodTd §g Hail.

Answer: B.@EWHWWWWW.

Reference ID:(15147)  UaH! fayddierd Uad SIvd?

A, B



Answer:

Reference 1D:(15392)

Answer:

Reference ID:(15133)

Answer:

Reference ID:(15358)

Answer:
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cH, a,d
DA

A, B
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A.27189
B.108, 108
C.200,16

D.156, 60

**** THIS QUESTION IS DISCARDED ****
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A gt
B.fary ara
C.Igad aI’
D.had a1

C.Igad aI’

fSHeR 2018 AL Ud UUMIgR UHIRIG dbeiedl 3R & A&HIT IT YT
TFASRIGT JXIHd XS B 3M1g?

ATSHOY &
B. T1&H0T XA
C A& & B¢

D.@% fay dequn

A TTSHAY A&



Reference ID:(15138)  3URRI fohamuerean YR 3.
faguTd S UTgH o U g
A STd

B.Hga
C.3[PHSB
D.IHH®B

Answer: C.W

Reference ID:(15378)  Uehl UHTHE 6 Uia=dT, 4 shiedl, 2 fUden 3for 3 fgran e sied. SR
el b Ul 4 Tiedl Bl Tedl, R JTATNSD! fHaH 1 Mt HIBT Fugr
THTTdT BT 3MTg?

A.69/91
B.11/13
C.21/91

D.6/15

Answer: A.69/91

Reference ID:(15131)  JaId s el Sfics.
R

D.IHIfCHT

Answer: D Iyl



Reference 1D:(15105)

Answer:

Reference 1D:(15362)

Answer:

Reference ID:(15373)

Answer:

Choose the correct form of adjective for the given sentence:

Occasionally, serious crimes are committed, but they are incidents,
not part of a widespread problem.

A.social
B.isolated
C.unique

D.minor

B.isolated

URA geAe Tt qayd Hacd THg dhad! Ted?

A6
B.7
C.9

D.11

D.11
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Reference 1D:(15382)

Answer:

Reference 1D:(15357)

Answer:

TTe fEdedn IR Uaites! HIuTdT U @ielt feciedT TRyt SRy Jeod
TE1?

7 Panorama Centre, 98-East Jinnah Avenue, Blue Area« G 7/2 Blue Area,
Capital Territory 44000,

+92 51 2347109

(i) 7 Panorana Centre, 98-East Jinnah Avenue, Blue Area« G 7/2 Blue Area,
Capital Territory 44000,

+92 51 2347019

(i) 7 Panorama Centre, 98-East Jinnah Avenue, Blue Area« G 7/2 Blue
Area, Capital Territory 44000,

+92 51 2347109

(iif) 7 Panorama Centre, 98-East Jinnah Avenue, Blue Area« G 7/2 Blue
Area, Capital Territory 44000,

+92 51 2347109

(iv) 7 Panorama Centre, 98-East Jinnah Avenue, Blue Area« G 7/2 Blue
Area, Capital Territory 44000,

+92 51 2347109

B.ii
C.iii

D.iv
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Reference ID:(15377)  SIRIAE, 8 THT, 7 HRaig AT 6 3fid 3Td. SR A H U0 Uh hed Hasd
ol R o 93 fohdT SfidT Tquarh YTl BT 3Mg?

A.7/21
B.6/21
C.8/21

D.3/21

Answer: C.8/21

Reference ID:(15146)  Jeld dledTdid [aRTHIg S5, 5

g1 o IRaa gidl 8 T/R; U AT arsdl $UM Hlg! dhasiel Ulerd edrd.

A W™
B.3/ddvul fIg
.31

D.guf faRm

Answer: C.G{?ﬁaﬂ'ﬁ[

Reference I1D:(15102) Choose the option that has the correct spelling for the missing word in the
given sentence:

The ring she is wearing is a family

A.heirloom
B.hairloom
C.herlum

D.hierlum

Answer: A.heirloom



Reference 1D:(15129)

Answer:

Reference ID:(15125)

Answer:

Reference 1D:(15114)

Answer:

Reference 1D:(15372)

feepren Sl A Sewreaa for.
1 ISt e e es Ui FiTeT e,

A TTSTgru}

B.aTgauruft

C. 3fyeuoft

D . JgTaroft

A TTS9aTui!

Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

With the birth of the baby, my mother's hands were full.

A.the baby was very fat
B.became busy
C.grew tired

D.incapable of hard work

B.became busy

Choose the most suitable determiner for the given sentence:

the Senior Manager or the Section Head has to address the issue.

A.Neither
B.Either
C.None

D.All

B.Either

HERIYTIA Wiclledes! Il AT ILHHE 2400 T8 T NG
BTG ST BTl a1 3Ted?




Answer:

Reference 1D:(15126)

Answer:

Reference ID:(15123)

Answer:

Reference ID:(15375)

Answer:

AT IS I
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C T it AP I
D.dfelefl g IaH

C .oy it AP I

‘&g WO T IR 31d-

A.3ISI0T IO,

B.HTIR Y.

C.3SIUIG UR TS,

B.HTYR Y.

Out of the following options, identify a simple sentence.

A.Mohan and Manjhli are friends.
B.Jawahar called Myna but he did not discuss the economics paper.
C.Keerthi ran as fast as she could but failed to win the race.

D.For itis in giving that we truly receive says the Bible.

A.Mohan and Manijhli are friends.

R, TANIM, HREM SATSAYT TrSedT U1 HSUTIRTS! Wreauds!
PTG AT Gh T araa oid?

A gTfgra Troft

B. 3] Troft
C.3Raw3 roft
D.dT goft

D.dT goft



Reference ID:(15384) 8 f&d&R, 2007 ISt AMAR BIdT. 8 FSHR 2006 Ui HIOMT fGad 3™?

A R[HAR
B.XHaR

CIfdar
D.gHAR

Answer: AJ[hdIX

Reference ID:(15398) &Rl [dhHd 4,50,000 ¥UY 3Te. =T foHd=AT 80% TaaT f[adT & 3iTs.
TUTAME SR YOiaul Jar el {T1or famr du-a fawarear 90% Jawd
T UaH dall. BT fbrd 0T Ured eien XahH giAdid BRe B gidn?

A.1,76,375 30Y
B.3,24.000 3UY
C.1,82,150 34U

D.1,26,000 3Ud

Answer: D.1,26,000 ST

Reference ID:(15381)  TRIRI HIal.
25, 32, 48, 75, 68 & 28

A.68
B.49
C.59

D.46

Answer: D.46

Reference 1D:(15110) Choose the option with the appropriate suffix to complete the given
sentence:

People have become more addic___ to technological advancements in such
a way that made them lazy.



A.-ient
B.-tive
C.-tion

D.-ing

Answer: B.-tive

Reference ID:(15145)  Jaeld dledigs a1y d 3oy eI,

B.h!
C.®RUl

D.a

Answer: AJ%U]@I

Reference ID:(15124) Choose the correct form of tense for the given sentence:

told you not to back home this late?

A.l have, come
B.Haven’t |, come
C.Aren’'t| , came

D.Has I, coming

Answer: B.Haven’t |, come

Reference ID:(15121) Choose the most appropriate usage to fill in the blank in the given sentence:

Many major businesses fail during the stages.

A.initially

B.initiation

C.initial



Answer:

Reference ID:(15391)

Answer:

Reference ID:(15370)

Answer:

Reference 1D:(15113)

Answer:

D.initiate

C.initial

A 3101 B T1 GIF RreRigediel 3faR 330 fatt 311, Teh Yed A 3B TUTaRA Tl
8 groTal fFed 311for B a1 faapTunars 60 fodl/ara Ua G $Rd. gerl Xed
Hp1cd! 9 dreidl B T f3ah1umgH ferd 3o A fwTunes 75 fahdi/arm varg
. fabcil aToTdT T Gl THHBTEAR S er?

A.gHTBT 10.30 FToldl
B.ghTadt 10 arerdT

C.GURI 12 aTold

D . ghTd! 11 aToid

D . ghTd! 11 aToid

TS AU 2019 REGRML, "HRaH T afd o Th) Saull-.1°
WA YREpd B .

A SRR HeiHe SIS
B.3dWR hel-He dis
c fawht delde IS

D.S7E HelHe |18

C fawdt deiHe 918

Choose the correct form of verb for the given sentence:

All of his movies strange but there are many people who like
them.

A.contains ... has lived
B.are ... don’t
C.content ... is

D.contains ... are

B.are ... don’t



Reference 1D:(15116)

Answer:

Reference 1D:(15140)

Answer:

Reference I1D:(15139)

Answer:

Reference ID:(15360)

Choose the correct form of modal auxiliary verb for the given sentence:

Library should have books which of great value to children.
A.were

B.is

C.was

D.are

D.are

Jeid arTdid S{euard UhR el
"3 HIST TTHcd SATell Bt gir

A SYITT 3oy

B.forarfarivur sreqg

C.haauanit 3y

D . RTecaN 3y

C.haauanit 3y

FHAIR fhaMar= arg U a8 &,
HaH HiadT .........

A ferfgett

B.farfgat

c fofgd

D.ferfgdt

A fafgent

HERIFHEE ST qSTTaRR 81 Wieliciteh! PIurT &=Ti Feifdd ag?

ADEITE
B.gf¥aET
C SeeRUIag
D.Hexifdan



Answer: C.oddiuug

Reference ID:(15130)  Reprn St O S greg foral.
L AT o G 5[] A —— qTeR Ul

S NICK]
B.HclHA
C.3{cdfdd

D.HIdd

Answer: B.dMHd

Reference ID:(15385)  WTeil fadiedl Yacided) 3jehiar Ueb fAfRIS oH faial 3118, AR gab il hH
3{le:

17, 36, 132, 635, 3500, 21750, 153762

A.635
B.17
C.132

D.3500

Answer: A.635

Reference ID:(15143)  Ydld arIRA fA=Ivor sesar.
ST aTid A ST rar T, Hedrd gRIR all

A STeT
B.RlagA
C. 4T
D.gd

Answer: C.YHddd

Reference ID:(15374)  Gle! HRUGNIS! ATURUITH AT ARG SRAT 3Tg.

AHUIC 3RYT



B3T3

C.3idds 3Rl

D.gfed® 3R

Answer: C.3{ddeh R

Reference ID:(15108) Choose the appropriate collective noun to complete the sentence:

The at the church donated a large sum of money to the flood
victims.

A.congregation
B.audience
C.spectators

D.crew

Answer: A.congregation

Reference ID:(15395) A 301 B T &1H 8 feadid <= YdhdId, B 30T C a9 ®H 12 feawid o
IHA. A, B 30T C THHAd 90 d 1 6 feawid qof #rdrd. A $ifor ¢ d &
U foclt feawia gul Frdia:

A4 faag

B.6 faay

c.8faag

D.12 f&ag

Answer: c.sfeayg

Reference ID:(15149)  U&Id AIav™IRI=al A1 STl Uaid (s,
URT<] BH1do3] BHUI-




Answer:

Reference ID:(15368)

Answer:

Reference ID:(15388)

Answer:

Reference ID:(15109)

A fSrar=ht uat 7 w0t

C.IWaR &l

D. DIt MY AIST B3 oy

D. DIt MY AIST B3 FiToy

91 T 3PHIGH RIHRHH SRgHT g fawyg gufiaed |

Af0RiTe T 8w de
B.U Tse 3f¢ f& M
(OXS| R

D.US |

AfRITs T 3t Je

T eyt Wdl fhrd IRWET 3MTg. T TUeid 81 15% Tw faar Sfor
a1 dyciye fash! fbua gt ufgearean fash! fdiues 3400 SUd 31 g,
g AT 20% BIdl. U elucius] Wdl fhHd &1 3Mg?

A.36000
B.40000
C.48000

D.34000

D.34000

Choose the option with the appropriate suffix to complete the given
sentence:

| am too scared of poison snakes. What about you?

A.-ful

B.-able



Answer:

Reference ID:(15106)

Answer:

Reference 1D:(15359)

Answer:

Reference ID:(15353)

Answer:

Reference 1D:(15390)

C.-ant

D.-ous

D.-ous

Choose the correct form of adjective for the given sentence:

The noise from the disco was so that | had a severe headache.

A.untolerable
B.intolerant
C.intolerable

D.tolerable

C.intolerable

G HIUR HERTY T cmEa e R T o

A THTRIT
B.dI®
C.drguft

D.FdgS!

C.@rquil

2T I Y ST JRAB ARad WU bIuT 3Ted?

A ST TRR
B.XERTH St oA
C i Tt
D. 7 S

A.3MHar TR

U g 9 araiAed 61 fHHt tae siak wrua. M 3raf yarg 4 feHiarg
QT 31fOT Sreif wraTy 9 fHHYAT A e daR ddl. URl I 3R BIET?




A.12 ot
B.14 fouil
C.16 et
D.18 fodit

Answer: C.16 Tt

Reference ID:(15132)  JaId 1T AHRIT a1e &,
3{TEET AT faaRdl HIur?

A DTEI HefHT HIofg! fa=Re el
B. 31T {1 hiviig! fa=Rd ATe].
C. 3T G e d fdaRara.
D.$Te! a1 e d faardrd.

Answer: B.31TTET efi+1 Hiviig! faaRd gl

Reference ID:(15136)  faoiedl SresTd ufkad= HRuamme! arg wafg fAasr.
o Hay fafedr. (fd yiawsres)

A fergid erd
B.fergla wme
C ferfgam grar
D feifgar s

Answer: Bﬁﬁﬂﬂ Gllé:l

Reference ID:(15379) g1 guIgd daid 30T YT i 94T ONTR 6:5 BId. IR ANt el
AT TOIRR 11:10 B d. T IRET T B 38?2
A7 T
B.16 9%
C.13a%
D.18 T8

Answer: B.16 a"@f



Reference ID:(15137) TR UaidTe) (HdS &

Answer: C.ﬁFﬁﬁ

Reference ID:(15367) R WAUMMIAR, Had 1 3R GHEGR HIUATG! AT
fAETRIHT SRR el $ITS, Xebd 10T AU AR AN el SIS, Wb,

A.350
B.354
C.356

D.360

Answer: C.356

Reference ID:(15364) 2019 A fqolg ae- oW AaR 310 f§ TR [REBRITS! BT a8 et
TTet?
A 318U Sied!

B.H-HIe Rig
C.39% Tgg
D.HHdT SSi

Answer: A.3BUT SIdl

Reference ID:(15127)  WTeiidua! HIord Siret fawgrdf simg?

AT X G
B.FR® X srefyuf

C.UIBP X WY

D.gaY X U8

Answer: B.FRY® X G{QfE[Uf



Reference 1D:(15115) Which of the following options best combines the two given sentences?

The poet sat in his tower. He gazed on the sea.

A.The poet sat in his tower gazed on the sea.
B.The poet sat in his tower and gazed on the sea.
C.Sitting in his tower gazing on the sea is the poet.

D.In the tower gazing on the sea sat the poet.

Answer: B.The poet sat in his tower and gazed on the sea.

Reference ID:(15351)  YRdTd! geATl U AN Tei?

A.26 STHART 1948
B.26 STHART 1950
C.26 SHART 1951
D.26 SHAR! 1952

Answer: B.26 STMaRt 1950

Reference ID:(15389)  Udhl HucAUd T[T IO gRIMET THU IR 30000 FU 3HTg. TR LS
TR 5% =t argdell 3101 §RRE TR 7% =t argdell, aR el THUl WIR
31800 ¥UY Udel dicd. SRRE TR Hlal.

A.10,000 3T
B.15,000 3T
C.18,000 3T

D.12,000 ST

Answer: B.15,000 3T

Reference ID:(15356)  WTcidUe! BV Aigs WAL T TEGRT 3MTg, St FRRar=m sifiemRe
UTa 3 SITiUeh! Ueh 31Tg oY off 1= ifeiq Rigolit < Aaean yr adar

A TIGS TREgR]

B.gR1 8R #HfdR Fifgs
C.T=gRI §14 3 Alfgd



D .4t gRHfeR Tifge

Answer: A TIGS TRFgR]

Reference ID:(15361)  PIUIAT &ATHEA Icxi@-1 DHIARRITIST feloR JREDIR faal Srdi?

A TFSIRAT
B. YA
CU®D

D. AN Hal

Answer: INCECIIEK]

Reference ID:(15354)  3ffdide HRA-3MTheT Tgad & URIETT $1a-Uithadd-19 JIeTaud!
DIUTT TER AT AT Y= Tl g2

AU, FERTE

B v, TERTy

C. AT, IR U
D.HIUT, A UG

Answer: AH&[, HeRTY

Reference ID:(15150)  Jeid aIdTd GaRATdId 3 dTeER Hagl.
=0T ST SIfeRTd HeIRIa WY deUR HH1?

A TR g1 did R0

B.ST dToigur

C.oxHArAl TsTdr Jequl

D.UT3HRI Sl

Answer: B.Ehl amaﬁr



Reference 1D:(15120) Choose the appropriate conjunction for the given sentence:

she had a good job in USA, she came back to India.

A.As
B.But
C.Except

D.Although

Answer: D.Although

Reference ID:(15111) Choose the appropriate articles for the given sentence:

Chief Minister and Prime Minister are attending
meeting scheduled for 10.00 am.

A.No article required, the, a
B.The, the, the
C.The, a, no article required

D.The, a, the

Answer: B.The, the, the

Reference 1D:(15104) Choose the appropriate option with the correct punctuation marks for the
given sentence:
sure we had a teacher but not a regular one said the little girl

A.“Sure we had, a teacher but not a regular one,” said the little girl.
B.Sure we had a teacher but not a regular one, said the little girl.
C. sure we had a teacher but not a regular one ,’said the little girl.

D.“Sure, we had a teacher, but not a regular one,” said the little girl.

Answer: D.“Sure, we had a teacher, but not a regular one,” said the little girl.

Reference ID:(15355)  WTeiiaUdb! S I0TT IISATHEN T8 QY Srqaiedrad! sie fardiasdia ufgeht

U] 16 dhal Telt?

A TR
B.gRaron



Answer:

Reference 1D:(15386)

Answer:

Reference ID:(15134)

Answer:

Reference 1D:(15393)

Answer:

C. AU
D.BRD

C.HYeg

e SNt A et fag §aar guf &
2,4,10,22,42,72,

A.102
B.106
C.114

D.124

C.114

rieHe e 1 are 3.

A TSI dAT YT Hosdcs = ST,
B RITCIT=AT 91 UM 858 G e,

C. OIS I UM Gs@es Y= e,

D. TITSIIAN arH UM H3H@ Y& ST,

A DRI =0T UM e Yo ST,

Tdh IO IR AT 9! fhad 80% SR fergifabd HRdl o1 25%
C <dl. AR T °918@ [dsh b g Ufd fharigdr 20% 3Hfid Yadhd
foresd SMIfOr Y Urghi=T Ufdl faaiialr 10% ot fash! Rl TH U ATt
TEHAR] B g ?

A.63%

B.72%

C.88%

D.80%

D.80%



Reference ID:(15387)  Resrn SImft divar S FagH @t quf &
3,7,17, 39, 79, 143,

AA178
B.237
C.264

D.301

Answer: B.237

Reference ID:(15396)  &Tdil fadiedn @ ed il T ARy o d faaidr 318, ATAR g il hd
3l

56, 57, 48, 73, 24, 105, -10

A.57
B.73

C.105

Answer: D.-10

Reference 1D:(15107) Fill in the blank with the correct noun for the given sentence:

The committee awards only two every year.

A.scholar
B.scholarships
C.scholarship

D.scholarliness

Answer: B.scholarships

Reference I1D:(15117) Choose the appropriate prepositions for the given sentence:

Break this chocolate pieces and share it all the children.

A.to, among
B.into, among

C.into, between



Answer:

Reference ID:(15383)

Answer:

Reference 1D:(15141)

Answer:

Reference ID:(15371)

Answer:

D.off , to

B.into, among

Qe Uy g el fediedn urg I 3id! Tiar 3nUtid 3ie:

328 642 836 697 954

Faid HiedT ST 3 =7 3T gu=aT gatd HIdT Tl 1 &1 Siahra

YT IR B 3AA?

A2
B.1
C4

D.6

A2

Jeid arTdid YRR Sodmel UhR i,
g4l ucrds fayar faarer Ar=iar Tega.

INERIICRIN T IR
B.RTecUNt 3o

C BNl 3o
D.IHITTT 3/

A fraTfaiyor sreog

G

A 3TOUTY

B.3{TATTH defs

C. YUY dRDIRA

D. 3Ty fee

D. ST feemil

a1 ferRugiadia gafd diear Tied g

T e HIT SHYUIIR



Reference ID:(15399)  RH1 TeTaeia Gaidl TSAT 8% HH! dveit Teit SATIOT ffdser fdhad 4
TIHITT dTgac. Yehferd Bedl STUMT IR B URUMH §lsd?

A.4.32% die
B.4.32% Yc
C.3.32% die

D.3.32% Yc

Answer: B.4.32% YcC

Reference ID:(15376)  @Tciid HIG Ul HIdoldds 31T T SIO0T Wl feciedT U3 3R 2l:
A8B6#7HU%3$FVR21@1VIWE9OLS5

R T Arsuita Id g Fig e, dR WIeaid! B ST b TR
GBTd 3RIT?

A3
B.5
CV

D.F

Answer: CcV

Reference ID:(15142)  GaId ATHIAT AT faRISuMm=T o fAder.
LiE]

ATE
B.fexa

C.HS

eI

Answer: D.EﬁTTc’



Reference ID:(15135)  T1CTd 7 S¥UMRT Xeg Tc5l.

A.3dPR

B.3E304

cfada

D.JEIORR

Answer: A.3APR

Reference ID:(15369)  SIHARI 2019 HH, YR Ud YU HERIPHE =T
HIATR-JBSTR-3HHIETE [AURTTE 3geTe Pl

AUAUL-211
B.UAUH - 75
C.U-qud - 180
D.UAUA -7

Answer: A.TdUd-211

Reference ID:(15394) 6 TN 3T101 8 Gl T HH 10 fadid gul o Javard o) 26 T 3TI0T 48
d od s 2 iawid guf & wddard, 15 T 1701 20 JaigR RS

UHRD HIH HI0YMETS! vdaid 966 fhal Srad:

A4 feag
B.5 fdaq
C.6 faaw
D.7 faaq

Answer: A.4 feag



